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L The Word « -
(A) fear o:];i}::;;OPhOh'i" S e
¢ €SS I
(B) foar R H::Prt:-slded
(C) fear of confined spaces J:ZI. ::cr
(D) fear of water (C) in
(D) for

8. The idiomai
meet’ means

p The past tense of rewind 1S
(A) rewinded

(A) get by
(B) rewounded (BT get ov
(C) rewound (C) éer da
(D) None of the above (D) getwi

9. Fillinthe t

3. The synonym of supercilious is She ___
e the back-gate.
(A) officious

: (A) boarc
N (B) superficial

| . B) ste

:,f (C) delicious '{ & mo?.i

: (D) haughty (DJ, alieh
gh

10. The expre
4. Select the correct spelling:

(A) pure
(A) Accommodition (B) relig
(B) Accommodation (C) mor
(C) Accomodation (D) sang

WP) Acommodation
11. Choose t

Whilel _
5. Choose the right word for love of oneself. trew a balkin
(A) Hedonism (A) wa
(B) Masochism (B) wa
(C) Narcissism (O} na
(D) Sadism ©jfau
12. Theser¢
Replace

6. To feel ‘under the weather’ means word.
(A) feel depressed (A) N
(B) feel uncomfortable B) C
(C) feel unwell (©) Is

(D) feel uncertain D) §
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1. III“m"hl'I‘]-Hll.\\-llhllu--11.1..iulr-|1u';u--.|1|nn
He presided the meeting
JAA) over
(I3) ot
(C) n
(I for
8. The idiomati expression make | th end

meet’ means
(A) get by
(B) gel ovel
(C) getl done
(D) l,\‘u'l well
with the cuitable opton:

9. Fill in the blank
, the bus and walked to

She fron
the back-gate.

(A) hoarded

@) stepped

(C) moved

(D) alighted

10. The expression ‘holier than thou’ means

(A) pure

(B) religious

(C) moralistic
(D) sanctimonious

11. Choose the right option:
in the library, someone

While

ey threw a ball through the window.
1eself.
(A) was Sitting
(B) was seated
(C) had been sitting
(D) am sitting

d me.

12. The serenity of the place overwhelme
able

Replace the underlined word witha suit

word.
(A) Noiselessness
(B) Calmness
(C) Isolation
(D) Seclusion




A place Whepe
(A) :\\'i.-u'\'
(B) .-\l'-;llln'n'
Eiee

A
CH are Kepy

;ln'HIu" v
(D) '*\l"l;".\ll

b Fill i With g
o m”vl: ;\l:ulluhlc hr“l"“ﬁilim .
_ an yoy i
(A) with T — W inches
(B) of ]
() in
(D) by
LI

Which is the COrree

Wiy ec| Senlenge)
Al one-eyed Person v

about the streets

(B) A one-eye

about the

U8 seen roaming

d person was S

Slreets,

(C) Theoneeyed person w
about the streets.

Cnroaming

dsseenroaming
(D) One-eyed person wy

48 Seen roaminge
about the streets. ‘ i

». Convert the given sentence into an
Togalnve sentence:

I will meet you tomorrow.

(A) Where will you meet me?
(B) How will you meet me?
(C) Will you meet me?

(D) When will you meet me?

I. The word ‘officious’ means
(A) self-important
(B) official
(C) serious
(D) enterprising

. Add a suitable prefix to form the opposite

e word ‘capable’.
(A) Uncapable
(B) Noncapable
(C) [11-capable
(D) Incapable

-

o MTSI;]

Select the corregy ANSWer (o it
The ship, with its crew, "1|lnlh¢hlank
(A) were —~——lo, =
(B) was

(C) were getting

(D) was being

20. The antonym of
(A) Deep
(B) Artificial
(C
(D) True

the word Superficiy) 1
15

Apparent

21. The word vicissitude means
(A) change
(B) stagnation
(C) uniformity
(D) stability

b
[ 2]

. Fill in the blank with the right option;
He was offended

(A) at

(B) for

(C) with
(D) towards

me unjustly,

¢

(e
]

The antonym of the word weird is
(A) Normal
(B) Casual
(C) Tired
(D) Worried
24. ‘La Gioconda' (Mona Lisa) is
unique work of art.
Fill in the blank with the suitable article.
(A) the
(B) an
(C) a
(D) this
25. The idiomatic expression,
moon, means
(A) rarely |
(B) frequently
(C) regularly
(D) never

once in a blue

Please Turn Over
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6. The reg

_ Ponsibilj
Notes jp India | }

185 in the h
(A) f\-lini:lr)' of Fj
(B) Prime s office
(C) Reserve Bank of India
(D) State Bank of India

for printing currency
and of

nNance
:\Tinihlcr'

27. Who found
Caleutta?
(A) Alexander Cuaningham
(B) John Stuart Mill
(C) William Jones
(D) David Hare

ed the Asiatic Sociely in

28. The ChiefJustice of High Courtis appointed
by the

(A) Prime Minister
(B) President

(C) Chief Justice of the Supreme Court
(D) Cabinet

29. A person on a swing stands up. The time
period of the swing

(A) increases

(B) remains the same
(C) decreases

(D) becomes zero

30. New Delhi, the new Capital of India was
inaugurated by Lord Irwin in the year

(A) 1905
(B) 1911
(C) 1931
(D) 1947

26. SRS SAE (16 BIsERE wiES =

27. (& e afemfbe GrEn ofed =
(A) SFEETER FHeE
(B)
(159]
(D)

28. ZErEIA 24l fasraefe e =
(A) 2e==gi ame
B) FgeE= 7=
(C) HIW (=he 2a o=l am

(D) FEmwo-99 7141

29, I FEGRE AFH A FED B AE
(A) Arsca
(B) @2 A/
(C) =1
(D) == 23

30. SHTe AT Tow W 76 e
A

(A) 1905 it
(BY 1911 A=
(C) 1931 H=
(D) 1947 17




31. th

CUmmiSsione € pres

T of Indig (4 Ent Chijaf Electian

(as
(A)_ Anil Chﬂuhan Of June, 202“?

£B] Sushij] Chandra
C) Sunil cp

angd
(D) Anj o

IMthotra

32. Wthh

Sultan :
dscended the ¢ was

not a slave befare
hrone? e before he

(A) Qutub-ud-dip Aibak
(B) Ntutmish

(C) Alauddin Khilji
(D) Balban

33. A battery consists of 10 cells. each of emf
1V.If 2 cells are wrongly connected, the emf of the
battery becomes

(A) 8V
(B) 10V
(C) 6V
(D) 12V

34. Who propagated the ‘safety valve theory’
and about which organization?

(A) A. O. Hume, about Indian National
Congress

(B) Lord Dufferin about Indian
Association

(C) Charles Tegart for Zamindari
Association .

(D) Lord Macaulay for British-India
League

35, ‘Chipko Andolon’ is known as
(A) Feminist Movement
(B) Tribal Movement
(C) Political Movement
(D) Caste Movement

Is B-5
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31. June, ZOZIfECﬂE?"EE?iF.\J"RWU 1 el fer e
a1
(A) S (B
(B) FA7
(C) F# b

(D) wfem AR

3. (@l AT PACRIAT SCATZE A B A

ferz= #l?

(A) PYACHA HEIP
(B) ZoTgS i

e wrmeiwe e

(D) T3

13, @z apface 100 cm we 1w b
wfeesE 991 26 1V o 26 @ gEeE ATE
offs, wIEE AoIET wiGesaa 9 23

(A) 8V

By 10V
(C) 6V

(D) 12V

34, (@ @ 2w TS G SEE oY 2o
W’&ﬁ.ﬁf@'ﬂ.iﬁ‘@?m@mwﬂﬂﬂw

(B) =16 T, O Tl AR
(C) Bief (B, efimid Fwies
(D) 76 e, a2l Al T

35, ‘fHoIte! STHET fea #fafs |
M) A ST
(B) ToGeE SITHE
(C) GRS SATHET
(D) oS SHTHEH

Please Turn Ove
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36. Who was the editor of the nationalist
DEWspaper ‘Sandhya’?
(A) Satish Chandra Mukhopadhyaya
(B) Bramhabandhab Upadhyay
(C) Sisir Kumar Ghosh
(D) Bhupendranath Darta

37. In West Bengal, Export Processing Zone
(EPZ) has started functioning at
(A) Raichak
(B) Falta
(C) Kakdwip
(D) Haldia

38. Siachen glacier 1s located in the following
range :

(A) Karakoram
(B) Zaskar
(C) Pir Panjal
(D) Shiwalik

39. In terms of thermal conductivity (k) and
electrical conductivity (&), diamond has
(A) low kand high &
(B) high k and low &
(C) high k and high &
(D) low kand low &

40. Who wrote Ramcharitmanas?
(A) Hansena
(B) Harshavardhana
(C) Tulsidas
(D) Joydev

36, HE FrE SrEGeRE AEWAES T
@ e
(A) = 5= AT
(B) F=ames e
(D) groEIY ¥8

37. =™59ar% ‘Export Processing Zone'
(EPZ)-97 Tffaferz Ha#ire i
(A) 6
(B) ¥l
(C) TR
(D) Z=waE

38, e T e aferiire w3Es
(A) SR
(B) ===
(C) F==nam=
(D) e

39, ©ifm sfaafEel (k) o =te +@arEe
(8)-3 AMATE L2034 (diamond) 9
(A) ME ke T% 5
(B) Sm ke s 5
(C) TH kS TH 3
D) FE ke =6

40. IOEAF-4F 6! T
(A) THE=
(B) =4
L2y gEAme

(D) HHME




41. Which |
- 1 Indian National:
as 'Grand Q]4 Man gof I],:':;]im‘l‘lm Leader is known
a?

(A) Budruddm Tyabii
(B) Surcndramam B
(C) Gopal Krishp
(D) Dadabhg; Nac

.'!Tii"r_]cf_-
4 Gokhale

noji

: 42. Who Among the fi
d]d. not bu]ong Y
nationalism?

{A) Veena Das

(B) Santi & Sunir
(C) Matangini Hazra
(D) Kalpana Dartta

llowing freedom fighters
‘0 revolutionary (militant)

43. 2 the Carl &
s What was the Carlyle Circular and when
Was it 1ssued in colonial India?
(A) .-\dccruﬂ.uprc\.;n_1pnl;n.;;aig;nh;:nn._&:
during the World War .
(B) A regulation to introduce Enelish
| g

CUCd

schools after [857

(C) A decree to restrict use of arms by
Indian citizens of colonial India from
1919 onwards

(D) A decree to prevent nationalist protests
amongst students in educational
institutions during the Partition of
Bengal.

44. Gandhiji was influenced by
(A) Tolstoy
(B) Dickens
(C) Marx
(D) Lincon

45. JosephRobinette Biden Jr., the 46th President
f the USA belongs to the political party named
(A) Republican Party
(B) Labour Party
(C) Democratic Party
(D) Nationalist Party

Col e . J
e T Y L
R, R

:'f._!l_rm' o (= LA ‘_" ] E."'E

b b 2 W T L ST (REE 3

44, =T oeiee sEEE-
Ay bepog =il
(B) ferz ==
(C) o7 =131
(D) = o4
45. Joseph Robinette Biden Jr. TF% SIS
TETRR suTR TRee ) FolR W feRT

(A) Reafem A

(B) A= #ib
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-|4'6- A-:mr_ding to the Census of India 2011,
w 'ucll1 one of the following Union Territories had
the highest sex ratio?

(A) Chandigarh
(B) Puducherry
(C) Lakshadweep
(D) Daman and Diu

47. Whal proportion of the Insurance Premum
Pu}.';t_hlv tor Swasthya-Sathi Scheme is borne by
the State Government?

(A) 50%
(B) 75%
(C) 100%

(D) None of the ahove

48. The new station constructed and established
by India in March, 2012 for scientific research in
Antarctica 1s called

(A) Pnyadarshim
(B) Bharau

(C) Maitri

(D) Dakshin Gangotri

49. Which commodity tops the current list of
imported commodity of India?
(A) Gold
(B) Platinum
(C) Petrolium products
(D) Petrolium crudes

50. Which was the first incident of a British
official's assassination after the revolt of 18577
(A) Assassinationof British official W.C.
Rand by Chapekar Brothers
(B) Assassination of British police officer
John Saunders by Bhagat Singh and
Shivram Rajguru
(C) Assassination of William Hutt Curzon
Wyllie by Madan Lal Dhingra
(D) As.‘aassinalionul'Brilishpuliueul't‘wcr
Jackson by Anant Laxman Kanhere

46, SETEa SMEeaE 2011 SEACE, FaERe
@ e TerE AdEe TA AT A e
(A) HE]9G
(B) 7qms4
(C) @A

(D) Wiiel @ W&

47. Afsaam Faaian AvE-AA dweE A
fnmre 7 Wol 71E) FaSEa 9% TA?
(A) 50%
(B) 75%
(C) 100%
(D) Ttz @ir1o2 7d

48. 16, 2012 AR (awifae STEAaAE So) SIS
wrbEbem @ o Afemrare e ==
(B) Sl
(C) Tardl
(D) Wi STEATEl

49, SHETS SEHEIPE <] EEE T &= _—
i\ AU ?
(A) A
(B) #ifbars
(C) cot@ferars ==
(D) Sr=ifH® conpieam #0

50. 1857-97 #(3 oUW W IGATET TN
TATTA Y GIOSA HUTEE o FAT

(XY STeereR SrgaR R e g, B
TS T

(B) wore e @ feraam areews e «fF e
wiTFAE T - T

(C) et fiee) e Tufemm g
- v 2

(D) WY ol S agw oo ¥
LR ORI




(D) Chief Justice of India

S52. A heavy body

o and a light bod
Kinetic energy, Then : e

ave equal

(A) heavy body has greater

(B) li ' has

- ght body has Er€ater momentum.
) both have equal momentum.

(D) both have same

momentum

angular momentum.

53. Pure silicon at 0 K is
(A} semiconductor
(B) metal
(C) insulator

(D) superconductor

54. The solar cooker works on the same
principle as
{A) Bolometer
(B) Pyrometer
(C) Greenhouse
(D) Solar PV cell

55. Mansabmeans
(A) A rank or office :

A military genera
Eg; A grant of revenue free land

(D) A religious text

MTs/3

51 CCIFR e ST e
(A) TotafeTE
(B) ZHTE
Jiey
(D) =T 24 5T ey

AR

s 98 ¢ G T T ga

A

ARG

(A) o o wiis SACA5 YT
2 A s SAwEs e |
o=

1o

TACAS TN 2 |

7i6a 922 (F T 4|

53, 0 K @ 9/ w5 e 2=
(A) =g
(B) HTE
(C) =g
(D) ufsefaad

54, Grapl oW Nfes SoF fofe 3 FE !
(A) ATATELHY
(B) *fErafibE
4T fErare
(D) GT% SFegs G51F

55, swad oY o
(A) = 2 =l
(B) (TS
(C) Fore Qe
(D) =g

Please Turn Over




MTS/2;

36. A boat

floating in a tank is carrying some
Passengers [f

the passengers drink water from the
it affect the water level of the tank?
(A) Tt will £0 down,

(B) It will rise.

tank, how wij

(€) Tt will depend on the atmospheric
pressure,

(D) It will remain same.

57. Who said,“An eye for an eye will make the
whole world blind"?
(A) Martin Luther King
(B) M. K. Gandhi
(C) Nelson Mandela
(D) Karl Marx

58. The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of
(A) Arunachalam Muruganantham
(B) R.Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

39. In the Constitution of India, ‘Protection of
Life and Personal Liberty' is guaranteed under
Article No.

(A) 21
(B) 49
(C) 73
(D) 370

60. How many new Government Medical
Colleges have become functional in West Bengal
during the last ten years?

(A) 8
(B) 6
(C) 5

(D) 3

B-10

56, (| ST SIS AP G
S (T GETeie 3, L T s S ¢
2 5ae

(A) AIT5 (=03 A |

(B) Tora Tata |

(C) agweam seF So fFe7 F9R
(D) <2 9 |

57. (= atEEs, e awe (o1 fee At
(A) wifoa s R
(B 9=, . S
(C) (e e
(D) ey 513f

58. 2018 ceufE #aw ‘wirew’ & FEms
Siara ) wonrn wiaffars, fof 2w
(AT Arunachalam Muruganantham
(B) R. Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

9. ©HCes R W, Saw e e
HH TS Bt afFs TEE @ HEm

A7 21
(B) 49
(C) 73
(D) 370

60. % 7 Tute +A5warr Fwal T
fStas 7T 5] T
(A) 8
(B) 6
(C) 5
(D) 3
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61. Judges

of§ - %
upreme Coun retire at the a

(A) 60 years ape ol ‘
(B) 62 veary
(CY S vears
(D) 70 vears
|
|
62. When was the First ‘
resolinAtaLend. First Industrial Policy |
ution taken
(A) 1956
(B) 1947 |
(C) 1948 |
(DY 1951 |

63. The highest peak of the Eastern Ghats 15
(A) Mahendragin |
(B) Nilgin
(C) Jindhagada

D)

Anaimudl

f the length of the filament of 4 heater is

4.
reduced by 10%, the power of the heater will
(A) increase by about 9%
(B} increase by about 1 | %
(C) by about 19%
(D) decrease by about 10%

Increasc

Which animal was part of the symbol ol

Netaji's INA Flag?
(A) Lion
(B) Elephant
(C) Tiger
(D) Rhino

8 S Py,

o e b

e
Hi

flda i 00

hl. . LR Hhﬁ?f
S -Cor el
(AY O s
B 6 -
(L= G
3 70
il 29T 10T 20 st e s
(A 1956 # :
B 147 AT
&) 194 r
D)y 19317
63. 7 HfoaEE A B =
(A) wrEEise
(B SraTerta
(Cy et
(DY S=EAW
64. i Ehaa e o 10% = T
65, GIeTEe ‘_I',s-'|'..t"=&|f'.1:t¢ -rsfﬂ.ﬁﬂ*
ofegfe et
(A) e
(B) ¥
T s qis
(12} apefd
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66. Whichisthc Direct
(A) VAT
(B) GST
(C) Wealth Tax
(D) Excise Duty

Tax in India?

67. i0of
Ratio of the rms speed and the most probable
speed for molecules in an ideal gas is

(A) V3:1
(B) 1:v3
(©) ¥3:\2
(D) V2 :43

68. Researchers has discovered recently
antibody of which virus in bats from Mahabalaswar
cave?

(A) Nipah
(B) Ebola
(C) Covid 19
(D) Zika

69. Largest wind farm of India is located in
{A) Tamil Nadu
{(B) Andhra Pradesh
(C) Maharashtra
(D) Gujarat

70. Which Medieval ruler introduced Ain-i-
Dahsala?
(A) Balban
(B) Feroz Tughlaq
(C) Sher Shah
(D) Akbar

L gH R
NI .
e T e

B-12

66. ST 2ATF TA (@0 ?
(A) VAT
(B) fa.g=.®
(C) ="
(D) wesa

67. =i ST SR S rms @91 «
probable (T4 SIS 251
(A) V3:1
(B) 1: V3
(C) V3:¥2
(D) ¥2:43

68. STEFA ArefewanE TR
A ?
) Tt
(B) ==
(C) =IfEs 19
(D) fort

69. ©Ened 326 Ta'rﬁ'lﬁ? TesmE (3
(A) SIEAIEES
(B) SHETCA
(C) T2
(D) o=




71. W ha ‘:f‘ilicd
right'?

the slopan '@
c .‘.II’1F_3JJ.'I. 5“‘j|raj i.‘\' I_“'\. hirlh

(A) Vinayak Damgpq
(B) Vasudey Balwa;
(C) Ba) Gangadhar
(D) Balkrishp

ar Savarkar
it Phadke
Tilak

& Chapekar

72. Tbn Batuta came o |
rulers’ reign?
(A) Akbar
(B) Sher Shah

ndia during which

(C) Muhammad Bin Tughlag
(D) Alauddin Khilji

73. A pendulum clock that keeps correet time
on the earth, is taken to moon. It will then run
(A) at correct rate,
(B) 6 times faster.
(C) W6 times faster.
(D) V6 times slower.

74. Who among the following cricketers won
the Rajiv Gandhi Khel Rama award, 20207
(A) Virat Kohli
(B) Sikhar Dhawan
(C) Suresh Raina
(D) Rohit Sharma

75. Government of quia pases:rd the Act fo
protect the human rights 10 the y
(A) 1990
(B) 1993
(C) 1995
(D) 2002

MTS_Q I

1. “FAE S ST Wi
! " — ¥ Sy

|
(A) T WICawe st
(B) THHE 9919% W
ey amE a7 e

(D) AT BrsaE

72, % AIGS (TN TEDA —
HTHA

(A) =g

(B) T3 %

1ey wzav b9 veem

(D) =ETE W e

73. ’?'f'i._'_ﬂ'fj"'ﬂ o e A1 el (AT T
b e 24, T El
(A) H5% 38 oA |
(B) 6 o %8& 5514 |
(C) V6 o &8 55
(D) V6 & Bz 5oR

74. 2020 AR MG Sh CEEY TS A
Stee o= fFEhE e
(A) =l FEF
(B) Pz ey
(C) ez !
(D) cfEs ==

7. T e SRR RS S
#{p WA
(A) 1990 A
(B) 1993 #A
(C) 1995 HICA
(D) 2002 A

plese Turn OVer
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76. Punarbhavs

: : and Atrai are the distr >
i al thutaries
of the h‘“”“‘”'lu o !

river
(A) Torsa
(B) Teesta
(C) Jaldhaka
(D) Raidak

77. W i
1'41:_;2']1“‘ was the hero of Rampa Rebellion ol
(A) Tanguturi Prakasam Pantulu
(B) Tiruppa Kumaran
(C) Puli Thevan
(D) Allun Sitha Rama Raju

78. What was the major symbaol of Mahatma
Gandhi during his non- jolent freedom struggle?
{A) His looking glasses
{(B) His charka (spinning wheel)
(C) His walking stick
(D) His cap

79. Neeti Ayog was formed on
2015
2016
2017

2018

(A) January 1,
(B) January 1.
(C) January 1.

(D) January 1,

80. Sabooj-Sathiisa schem
Bicycles to students of Governmen
Aided Schools/Madrasahs reading in

(A) Classes XtoX

(B) Classes X 10 X1

(C) Classes X1 to XI1
' X1l

ni/Goyvernmenlt

(D) Classes IX o

e for distribution ¢ if
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76. #néa) 6 e 7 e AR Mt .
(A) CEHA
(B) T
(C) G+l
(D) =G

77. 7 faraea A (@ e (1922-24)2

(A) THGE LBl AFpe]
(B) o= T
(C) .,_-]r,| (sl
.
(D) EEE Anal A& =10

78, Tzt o A e 44 2O
fe=e

(A) &g B
A 7 5
(C) O &E
(D) &1z 5

79, Sfs-=as e =
(X7 wEE] EeEa, 2015 SR
(B) =1zl GiEE, 2016 OifETs
(C) *w=T EeEra), 2017 S
(D) *E S, 2018 S

80, “FoTa FAHAT FYG-HE SR waaa/
s aTsAe A REEE W e s
BE-g A AR A = m e

(A) 72w cafl cer e e
(B) e el (orn e el
() e el cerr e afd
(D) s e e e e
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81, The largest g
(A) Pindari
(B) Gangotri
(C) Siachen
(D) Hispar

acier of India is

B2. NRC is now in form of a
(A) Draft
(B) Bill
(C) Act
(D) None of the above

83. Who is the author of Allahabad Pillar
Inscription?
(A) Rudradaman
(B) Harisena
(C) Samudragupta
(D) Banabhatta

84. Dry ice means
(A) Ieeat—23°C
(B) Ice at4°C
(C) Solid SO,
(D) Solid CO,

85. Wl'lalisLhemaximumﬁovernmcmSuhsidy
that can be availed by a beneficiary under the
Gatidhara Scheme”

(A) Rs. 50,000

(B) Rs. 1,00,000
(C) Rs. 2,00,000
(D) Rs. 5,00,000

M1
§1. wiared A49%Ee fows ==
(A) Terefa
(B) “ACzmar
e s

(D) A

e . _.¢.'.'_ o
82, CATAM TEAE s wmg

(D) ©oiEE cEAee

83, gmrEEm Z(fEs Fefel e
(A) FHTA
I aitiac
(C) Eed
(D) =

84, @% T4%
(A) —23°C TaweE 3%
(B) 4°C Tare 3¢
(C) 5= S0,
_(P) Fm CO,
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86, |
). _'\IHLFL' 1B of the Indian Constituliol
Pluasir: |
EUaraniees (he rght 1o

(A) Equaliny
(B) Fre
() Fresd: 1

'11' K

'-lll 1m
of Relis

ght 10 Con titutional Kemeo

87. Khajuraho, ‘11

the City of the G UNESCO
World Heritage Site, the name of which was fir
referred in the 1 1ih \ CEI
A) Tbn Battui
L Ibn Sit
(L) Abu Rihan Alberuni

(D) Omar Khavvam

RE. \,\‘hl‘ wirote Amuktar
(A) Rajaraja

(B)

(C

l.l "'l-:

B9. The boundary line of Sundarban was
demarc C]|L'I:; "'.'.
Al Hamilion Saheb
'.I} M jar William !"i i
.|'.I y 'I

(D) Dampier and Hodges

90. The Nayankara system is associated with
(A) The Bahmani Kingdom
(B) The Chela Empire
(C) The Maratha Kingdom
(D) The Vijayanagura Empire

B-16

o ==
" e 7
g6, AefAHTTE |B At TEDRTA RIS T —
| Fa re f
Lﬁ-" Als
() ALIGE-
(") i I ILAGE
P ¥ 3 -
| ut ’ 'rr_,l‘ AL AL L | L ]
itr 4
= ~
H? TR Ak C -—:"’-r_frl [ .*I ir F‘} 5'_"::_’, &1
sfarmiem HIED ™ mtaa wETE AYd B B3
£
v Flsl B 5=
(AY T« 4 y

o
AT 2 [

88, WAGATE-2 A6 (P
(A) TS 5

(B) zHa4q
(| ( )

(DY TwFa AW

< 9

."'I‘J', -:T:'i‘?-d]:':"‘ AT kn-_'-_—n:.' 2'_'_"_?!'%-;5;:

TRy
(A) TTE=0= WEa

- ey P
oy SENEE bW

(B)

(C) &G
(D) E=~+gm & iTEA

9, TR ATAY] CIR A ST W el
(A) rewe ane
(B) (5T HEme
(C) Wrara are

(D) e Hse




91. Who has been p;
Indian ‘."-ien'iI ili i:t[;m'll:ll : Lh;r‘i Flti::]-T e -lhe
Olympics? S
(A) Manpreet Singh
(B) Harmanpreet Singh
(C) PR Sreejesh \
(D) Birendra Lakra

92. The Valley of Kashmir is located in between
the following ranges :
(A) Zaskar and Pir Panjal
(B) Zaskar and Karakoram
(C) Karakoram and Shiwalik
(D) Zaskar and Shiwalik

93, ‘Dandi March' had inaugurated which
movement?
{A) Swadeshi-Boycott Movement
(B) Non-cooperation Movement
(C) Civil Disobedience Movement
(D) Quit India Movement

94, The largest IT company in India is (as of
June, 2021)
(A) Wipro
(B) HCL Technology
(Y TES
(D) Tech Mahindra

95. Which Bengal poet composed |h;l5(mg_
‘B:mEshechhemnragungf;'dLlringl.heP:irl.llmnut
Bengal?

(A) Rabindranath Tagore
(B) Lalan Fakir

(C) Kazi Nazrul Islam
(D) Mukunda Das

MTS/21

91, =imH Gifee = raawy S s
R ST B i e ?m,
(A TwETS Fie
(B) ZAwae g

(Cy 1. =i, e

(A) SIER 6 FAvigE
(B) &
(Cy FATSEAE o Fratre
(D) =rEE e ferarere

PE[ € FIACFEN

93, ‘wifs =feas &W i YA
st Aow e ?
(A) FH-TTE0 W
(B) S SCHE
(e S S
(D) =% BE WEHE

94. %, 2021 Fﬁ.‘vfﬂama-ﬁmm:mwnﬁﬁ

..4’ o

(A) Wipro

(B) HCL Technology
(Cy TCS

(D) Tech Mahindra

95, TFerma T & e IR A TR
et S 1 s L R
(A) FREEwIY IR
(B) e T
(€ ﬁrﬁ’lﬂ‘ﬁ‘ﬁw
(D) ¥ T

Please Turn Over
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: %6. Th'»‘|E=J-t1t'.rtnfthr.Narrn:u;luBuchuu.&ndﬂiﬂﬂ
15

(A) Anna Hajare

(B) Medha Patker

(C) Ramdev

(D) Binayak Sen

97. Who was known as the ‘Sher-i-Bangal'?
(A) Fazlul Haque
(B) Haji Muhammad Mohshin
(C) Maulana Abul Kalam Azad
(D) Nawab Salimullah

98. Which part of the world was the agenda of
Khilafat movement involved with?
(A) India
(B) Arab
(C) Iran
(D) Turkey

99, What was the original name of Titumir?
(A) Syed Amanullah Khan
(B) Syed Mir Nasar Ali
(C) Syed Amir Ali
(D) Syed Mir Muhammad Khan

100. Which of the following is not a unit of
distance?

(A) Light year

(B) Parsec

(C) Furlong

(D) liffy

26 st FEE Gl L] frcare=

(A) ] G
BT gl AT
(C) FETd

(D) s G

97, ‘AR FICE N TSE
(A) To1 TF
(B) e T TR
(C) CT==T BIgE P HEH
(D) AR FFATHR

98, fETes SHTHEER 3 SrwD I S
512 (2AFFTe Qbes, (T (oee T ¢
(A) SIF©
(B) =<A
(C) %A
By I

99, iz wvE AW & Tm e
(A) TFEw Sl A
(B) GTEM 4 WG S
(C) hm Sraia o=
(D) 1M [ TTT A

100. 5% 304 (@ LA 7 w6 e
(A) ST
(B) #ARmS
(C) Bt
(D) fafe
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101, The Asiad Golg Medalist

away recently at the Boxer passed

" R:fie 0l 42. Who s he/she?
(B) Dingko Singh
(C) Amit Phangal
(D) Shivaa Thapa

o :
102. Pakistan Resolution was taken on

(A) 16th August 1946
(B) 26th January 1935
(C) 14th April 1942

(D) 23rd March 1940

103. The Subaltern School of historiography
was spearheaded by

(A) Shahid Amin
(B) Ranajit Guha
(C) Partha Chatterjee
(D) Goutam Bhadra

104. Dubbed as the Dakshina Ganga (Ganges of
the South), the largest river of South India is

(A) the Godavari
(B) the Cauvery

(C) the Penganga
(D) the Mahanadi

105. Who won the French Open in 20217
(A) Rafael Nadal
(B) Stefanos Tsitsipas
(C) Daniil Medvedev
(D) Novak Djokovic

MTS,Q!
101. R CEE Aoty -

42 T T A TATE | Bt a1y ;Tq e
(A) == 2@
(B) fesma B
(C) =foE e

(D) =t aieit

102. Fafafis @@ wifae f
(resolution) 1S3 ST 2

(A) 16% =155 1946

(B) 2604 SRR 1935

(C) 14% «f2= 1942

BT 230<1 T 1940

AR

103. & frsansta 2feemshm 751
(A) =iz =ifam
BT G &%
(C) =<l BIfGrE

(D) C5T&s =5

104, wPEe Sfared Sdage, TS o T AR
st | AT @b 2=

Ay (St
(B) Ffcad 7l
(C) ce=s=
(D) A

105, 2021 e w1 ae A 2 6
(A) AR AT
(B) @EwTm PR
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106. India is o

(A) Union of states

(B) Federation

(C) Confederation of states
(D) Unitary

107. Which Muslim general conguered Bengal
in the thirteenth century?

(A) Timur

(B) Iqtiaruddin Bin Baktiar Khilji

(C) Chenges Khan

(D) Abdur Rahim Khan i Khanan

108. The binary equivalent of decimal number
4:625 is
(A) 100-001
(B) 100:110
(C) 100-101
(D) 100-011

109. What is the limit of the Annual turnover for
small enterprises?
(A) 5 crores to 75 crores rupees
(B) less than 5 crores rupees
(C) Between 75 Lo 150 crores rupees
(D) Between 150 to 200 crores rupees

110. What was the ‘Eka Movement'?
(A) A Religious movement
(B) A Peasant movement
(C) A Secret revolutionary movement
(D) None of the above

106. SFY i
(XY ATETES HeH
(B) T&93
(C) TG HIa
(D) SFEEE

107, CTe| AT Frefe s A e AHFH T
oA f
(A) TTF
(BT B fm e Refe
(C) cofFFe
(D) SEWA AEH 4F 2 4FH

108. wifi F2201 4-625-47 AfE4 (Binary) 3
==

(A) 100-001

(B) 100-110

(C) 100-101

(D) 100011

109, & SrTsE S @GR A
(A) 5 6 car= 75 @6 Ot
(B) 5 =ift 5 =i
(C) 75 (2= 150 % O
(D) 150 c4r& 200 % B

110. ‘gt wewre & feme
(A) «=fo 43w STwEe
By = 355 WEs
(C) 9=fb coeim Red wwEw
(D) Toitae (iebE =w
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111. ‘Perseverance’
5 € TOver w: I
landed by NASA on h s successfully

€ surface of
(A) the Moon
(B) the Mars
[C”) i]"lf_' Jupi[er
(D) the Sun

112. Which Turkish Sultan introduced the
system?

(A) Alauddin Khilji

(B) Balban

(C) Ttutmish

(D) Muhammad Bin Tughlag

Igta

113. Vikramsila Bihara was founded by
(A) Devapala
(B) Dharmapala
(C) Rampala
(D) Sasanka

114. Which among the following novels of
Sarat Chandra vividly reflected the revolutionary
movement of India?

(A) Srikanta

(B) Pather Dabi

(C) Palli Samaj

(D) None of the above

115. The following river divides West Bengal
and Assam :
(A) Raidak
(B) Sankosh
(C) Kaljani
(D) Chel

MTS/2)
111. 'Perseverance’ G W -roifas AreRf o
Fi AWCEA A WA FAH 2o, w =
(A) BT
(B) ¥
(€) Jz=e

r

(D) 74

112, GO T HETSI 28| AT 2 2+
(A) TETeHE e
4B) FIF9A
(C) ZEgehA
(D) = e e

113. Rl @2 & 2em Smme
(A) CFA#=
4B A=
(C) A
(D) *Mii%

114, == =W e = el
SR % 2ifewa 7 S e ¢

(A) S

(B) =< Wl

(C) »Erme

(D) Teirza @E 78

115. Fsffe A oFam @ THms 5
TAE ¢

(A) AMEE

(B) s

(C) T

(D) (5%

Please Turn Over
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121. ‘Letters from
penned by
(A) Aung San Suu Kyij
(B) Rashbehari Bose
:.(‘l Sarat Chandra Chattopadhy
(D) Subhas Chandra -

B whi
urma’ ig g book of essiyh

ay
Bose

122, Family Income Ceili
Scheme is not applicable if
(A) the girl is physically challenged.
(B) the girl is an inmate of JJ Home,
(C) the girl has lost both parents.
(D) All of the above

ng for Kanyashree

123. When did Sakabda commence?
(A) 78 A.D.
(B) 78 B.C.E.
(C) 178 B.CEE.
(D) 178 A.D.

124. The names of Sidho and Kanho are
associated with which rebellion?
(A) Chuar rebellion
(B) Sannyasi rebellion
{C) Santhal rebellion
(D) Kol rebellion

125. Inter-state council is formed by the
(A) Prime Minister
(B) Parliament
(C) Chief Justice of India
(D) President

MTS21
121. ‘Letters from Burma' ¥IGE 9% Fuys 435
o
(A) =ie AW A 6
(B FEEEE 99

(C) *AeGE HLoiiHE

(D) FEMHE 77
122, HAF5Ta% ATIAR TAE AR owIE

it e TwH e T TW

(A) = = ofead =)

(B) =1 11 Home-~87 a1 11|

(C) 1T SR AA-H) FES 2 < |
(D) TTFR AL

123. =4 T FHbe GG 7
A& 78 AD.
(B) 78 B.C.E.
(C) 178 B.C.E.
(D) 178 A.D.

124. Ty @ Ffea W (I FamEes AR wiest
(A) parE e
(B) wm# =
+€7 Fewm faEe
(D) = e

125. =rg-gey #fFEm fe @
(A) 2uFEa el
(B) AAFfro-a3 al
(C) ©rarsa 2 Reaefes wwl

_(D) agefen @l

Please Turn Ove
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126 o : _
E -_The ratio of the diameters of moon and
arth is nearly

(A) 1:2
(B) 1:5
C) 1:4
(D) 1:8

127. Sharavati Hydroelectric Project is located
n:

(A) Kerala

(B) Karnataka

(C) Maharastra

(D) Madhya Pradesh

128, Started in June, 2014 by the Union
Government of India, the ‘Namami Gange'
Programmie is associated with

(A) Worshipping the Ganga

(B) Canal irrigation from the Ganga
(C) River linking with the Ganga

(D) National Mission for Clean Ganga

129. Who was the Chief Guest of Republic
Day, 2021 in India?
(A) President of Sri Lanka
(B) PM of Bangladesh
(C) King of Bhutan
(D) None of them

130. A vehicle covers half the distance with
uniform speed v, and the other half with uniform
speed v,. The average speed of the vehicle is

W+
(A) 5

V] =+ iz
B "y,
; ¥z
[C} L’] + V3

2v| ¥
{DJ W+ Va

126, b1 @ Af43a AT ST WA |

(A) 1:2
(B) 1:5
(C) 1:4
(D) 1:8

127. =raras wwfaqe 2w P9 wAgey
(A)
.
{C)
(D)

A
#<fio
wL1aG

Sy 2T

128. 2014 AA oF 26T SFS ATFILAA i
ST’ eawiD 29

(A) SRS T

(B) 1% (4TS AR

(C) g AN 7 AGE

By R AEEEeE BreE e

129. 2021 17 SHETEA 5KeE FaA S =
syt wfeie F ferae ¢

(A) TFmm 7B

(B) AEAMATR =

(C) Soitaa are

(D) THTEE (TR =

130. <= e o wiowre @ S 79
v, A S e HAFS v, T, S sl
1% @ T3

W +va
& ——
l-"|+'l-’2
B) “uw,
Ll
[C] 'r‘|+"-’2
e

o et}




131. Who was the
when Gandhijj
Movement?

(n!\-‘L‘!’I]l’il‘ Gener

initiated Civil D; e

sobedience
(A) Lord Hardinge

(B) Lord Minto

(C) Lord Linlithgow

(D) Lord Irwin

32. 'The
I; 2. The spectrum of color in Co
(CD) 1s due to

mpact Disc
(A) Refraction
(B) Reflection
(C) Diffraction

(D) Polarization

133. The Partition of Bengal was annulled in
(A) 1905
(B) 1911
(C) 1901
(D) 1947

134. When was the University of Calcutta
established?

(A) 1911

(B) 1817

(C) 1854

(D) 1857

135. The power of a lens is +2°0D. The focal
length of the lens and its nature arc
(A) 50cm, concave
(B) 50 cm, convex
(C) 100 cm, convex
(D) 100 cm, concave

131. stfsfem=iza-emnens ‘"TSQ;
’ - % = ai[e]] uﬁ:"}ﬂr""
@mCae fersa e i [ TR
2
(A) # rj
(B) #é
(C) oot
A7) #E
132. @713 2% (CD)c2 1 2 -
o1 B b

(A) #feA29
(B) Afewae
(C) o7& (T784)

(D) #Haa &

(A) 1905
By 1911
(C) 1901
(D) 1947

134, el R @m 7 ke =
(A) 1911
(B) 1817
(C) 1854
LDy 1857

135, «aflb TR wae +2:0D! TR (e it
e g2 2T =
(A) 50 cm, FEEE
(B) 50 cm, &
(C) 100 cm, T
(D) 100 cm, T

please Turn 0¥
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136. The |
) N : . . : = ] Jas
awarded 1o obel Prize in Literawre 2020 ™

(A) Louise Gliick

(B) John Drancw

(C) Peter Handke

(D) Peter Ackroyd

137. The freezing chest in refrigerator is kep!
near the top because

(A)

(B)

()

iL is convenient 1o use.

it reduces cosl.

it cools the remaining space by e
process of conduction.

convection currents are set up-

(D)

138. A spring of spring constant k is cut into two
equal halves. The spring constant of each half is
now

(A) k

(B) k/2
(C) 2k
(D) 4k

139. The velocity ratio of the hour hand and
minute hand of a clock is

(A) 1:12

(B) 12:1

(C) 24:1

(D) 1:24

is called as “His Superfluous

140.
Highness".
(A) The President

(B) Vice-President
(C) Governor
(D) Speaker

B-26

136. 2020 TR A I 2R Grag
s fefd 2

(&) Louise Gliick

(B) John Dranow

(C) Peter Handke

(D) Peter Ackroyd

137, AEFETALES T2 @ (freezing chest) S
4 B
(A) FE& g FA AR |

138, Peit g k7 o= PRTE TEE 1§ R
(A) k
(B) k2
(C) 2k
(D) 4k

139, wfors w51a Jib) ¢ R 3o ewrs
T A T

(A) 1:12

(B) 12:1

(C) 24:1
(D) 1:24

(A) TR
(B) SAmgefore
(L) TEAEAT

140,

(D) ™A=RE




L ———

141. In India te -
_ » 'OPOgraphical man :
from the ]””“_‘.‘””—, Organizat P 1s pUhlJ‘.h{:lj 141. =
g e 1on - 1
(A) NATMO o

(B) GSI
(C) SOI
(D) ZS]

(A) NATMO
(B) GSI
(C) SOI
(D) Z5I

142. Sandhyakar N

andi was the court poet of the 142. FE= T (T TEATEE Herta fW_‘r
- - : - o
(A) Mauryas A Freae |
; : (A) (A4 T
(B) Senas
- (B) (A1 diEa"
(C) Hussain Shahis :

(C) =12 STe4r
(D) Palas O %

143. President of India is elected by | 143. SE0SE < -:,,:—: E ST =
(A) Members of the Parliament (A) ZTEHAHECOE TS Bdl

(B) Members of the State Assemblies
(C) Directly by the people

-
(B 1= rA g 0 Fa=s A -l

(C) EH5T1E 7151 2%

= z = )

(D) Both the Houses of Parliament along

; 5 3 LB A EIG TG A ) S o & e
with the Members of the State

FETEE RAeAAEG Tl
Assemblies. TRl :
o~ = — = =
1 c 11 1 +F . - —(ZTFZ H=EeE = ] —
144. The following coastal area of India was 144. ©2(52 WEMIRS STges SR ——
. 2 R - -
affected by “Hudhud Cyclone : e T TR CA R N TR

(A) Chennai coast
(B) Kerala coast
(C) Andhra coast
(D) Bengal coast

145. Kurnool-Kudapa Canal is taken off from 145. R 56 e Taeew =L
the following river : =raTE ¢ ;
(A) Cauvery (A) FTRT
(B) Krishna (B) =

(C) Tapti (C) =&
(D) Tungabhadra

Please Turn Ove!
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16 According to WHO, the official name of the

Us responsible for Covid-19 disease '*
(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19

(D) Corona Virus

and

47. The confluence of I%hag_'irulm

akananda is located at

(A) Rudraprayag
(B) Devprayag
(C) Handwar
(D) Allahabad

48. Under which amendment of the [ndian
onstitution the voting age reduced to ] 8 from21?
(A) 60th
(B) 62nd
(C) 61st
(D) 63rd

149, Central Rice Research Institute 1s located

1
(A) Cuttack
(B) Dhanbad
(C) Kanpur
(D) Coimbatore

uced by motor boat sailing

[50. The waves prod
n water aré
(A) [_ra_[']S'\.’El'SC
(B) longimdinal

nal and transverse

147, ©TAA € T AT ze

(A) Fgedls-4
B L’.ﬁ.‘[ﬂ?ﬂﬁ-ﬂ
(C)
(D)

%famaia-4
g2 M-

148, SO FLRUET (I Aeregara a1al Celhd
23 21 (E I 18 a1 2R 7

(A) 607H

(B) 62%%

(& 61 9N

(D) 63

149. @R 4N SEEA A HAES
AA) T
(B) 4=altH
(C) 7=

(D) IR

150. mmﬁmm@wwﬁ@
(A) fots
(B) wng
(C) fofa @ wtne

(©) Jongitudi
(D) stationary

(D) T+
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151. Who wrote ‘Poverty and Unbritish Rule in
India'?

{A) Ramesh Chandra Dutt
(B) Dadabhai Naoroji

(C) A.O.Hume

(D) Amartya Sen

152. Mukutmanipur Dam is located across the
following river :
(A) Subarnarekha
(B) Dwarkeswar
(C) Barakar
(D) Kangsabati

153. Who had designed the first Indian National
Flag?

(A) Vicoji Rustam Kama

(B) Annie Besant

(C) Sarojini Naidu

(D) Sister Nivedita

154. Badland topography is an important

characteristic of the following region :
(A) Gulf of Kutch

(B) Sundarban Delta

(C) Konkan Coast

(D) Chambal Valley

155. Who was the Mughal emperor during the

Revolt of 18577
(A) Aur;mgzch
(B) Mir Qasim

MTss2,
151. ‘Poverty and Unbritish Ruyle;
. l: -
Fefirel (¢ e

"uefa
(A) AGOE TG

(BY WMTSTE Aemé

(C) @, e. fTen

(D) SE)

EEI TR

(A)

(B)
(C)
(D)

T AR AT e
Y a1 "’. )I'I". _577.:

(=

Hadral

BrATAA

153, (T SRATES AL T SR A=z
(AT TorE e
(B) s (=i
(C) RGN A=g
(D) Sft frrafret

154, gl frafaie ST G901
(A) F9g TAHITE
(B) A &
(C) C@TE= TAF
(D) 798 EAOe

ookl
155, 1857-a7 faice T @ 9 fa

(A) SHETHES
(B) firg il

(C) Bahadur Shah II
(D) Sarfaraz Khan

(D) Fawas

please Turn OV¢r
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: . el
: 156. Solder used for joining metal PACTRES
1S an alloy of

157. Who wrote the drama Neeldarpan?

158. Dilatometeris used for the measurement of

159. Shanti Swarup Bhatnagar Prize is awarded
in the field of

160. The Sundarban isdeclared as ‘Ramsar site’

n

her

(A) Fe and Cu
(B) Fe and Zn
() Snand Cu
(D) Sn and Ph

(A) Harishchandra Mukherjee
(B) Girishchandra Ghosh

(C) Dwijendralal Roy

(D) Dinabandhu Mitra

(A) electncal energy

(B) mechanical energy

(C) dimensional change in material
(D) thermal energy

(A) Peace

(B) Science and Technology
(C) Medicine

(D) Economics

(A) 1987
(B) 1972
(C) 2018

156, 41%a S carTgr S0 3

e ¢
(A) Fe gt Cu

(B) Fe 94t Zn
(C) Sn @Ak Cu
(D) SnE< Pb

157, Mool 15 I A2
(A) Zferioe ACIALGH
(B) fArAMHH a1
(C) faree=ie am
by A

158. femmoifao (Dilatometer) Fra Afma
%S T

(A) e =&

(B) lfe =fe

(C) ~Avsfs aere ~AfFaEa

(D) iFm =fe

159, =il SHaAs (I CFE (eT T, G 2
(A) =f@
) fwi o e
(C) fofeemt
(D) =Aife

160, -G A e’ R el
(A) 1987 it '
(B) 1972 71T
(C) 2018 fABICH

(D) 2019

..........

(D) 2019 561
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166. w ho was involved with the Ind

Imfupundcncc 1

eague'?

(A) Deshbandhu Chittaranjan Das
(B) Mahadev Govind Ranade

(€) Ananda Mohan Bose

(D) Rashbihari Bose

167.

Article 21 of the Indian Constitution ensues
(A) Right to Religion

(B) Due Process of Law

(C) Right to Life and Personal Liberty

(D) Procedure established by Law

168. Name ofthe supercyclone ‘Yaas’, was given
by :

(A) India

(B) Oman

(C) Sri Lanka
(D) Bangladesh

169. Mica producing district of West Bengal is
(A) Bankura
(B) Paschim Bardhaman
(C) Birbhum
(D) Purulia

170. Hydraulic press is based on
(A) Archimedes law
(B) Pascal’s law
(C) Reynold’s law
(D) Bernouli’s law

B-32

Sier-@d AR = Eﬁ
166. ‘2 Baferere il
fegee * -
(A) Faag T :
(B) &I (sfffa AITS
(C) ™ crzA A

er drﬂ‘;"ﬂﬁ] ¢ar

o TR 21 7 T T AR

(A HET AASE Sicgaell

(B) wifzrea A4Ed G |

(o) G @ e HiFeta SEFA |
(D) wifE Few 2SS ARG |

167.

168. *Yaas' 2o G FAR FRCR, 713 s fwee

(A) SIS
AB) e
(C) ==
(D) AT

169. <*osarHd =19 TeAWAPA (Tl 25

(A) drFet
(B) =ifsw a9

(C) g™
(D) =@

170. TREF (2R Frfen fofe 2=
(A) wifERfewER 7@
(B) ATSI=Ta 7
(C) s 3a
@ A
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171. Khutba was

(A) asermonread in the name of the ruler
at Friday prayers.

(B) aroyal order.
(C) areligious decree.

(D) a tax.

172. Although the final match between England
and New Zealand was a tie, England won the 2019
ICC World CUP. The reason was

(A) England was the host nation.
(B) England won SuperOverby boundaries.
(C) England won by toss.

(D) New Zealand lost for match-fixing.

173. Money Bill is finally determined by
(A) Prime Minister
(B) Speaker
(C) Leader of the opposition party
(D) President

174. The chopping of an onion makes one cry
because of the chemical containing

(A) Sulphur

(B) Chlorine

(C) Bromine

(D) Nitrogen

MTS12
171. =44 w1 77

) STATEA AN o A T A
ST | i

(B) AGHE SR |
(C) HalE STt |

(D) @ @4

172. TaF Al Al T ACGE 20197072 10c
a1 e 2 ¢ Feleere-aa aug w wn
Beay faeal 24, S

(A) ZENTS TTAEE o7 faz |
BT AR eSA-d AT A 2wmE e
(C) 2T b (Ene |

(D) FEfeme h-fE sz |

173. SR poreed e S

(A) 2
4B) ™A=
(C) Trzdl el
(D) AEA®
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175. Mem : :
are electeq I:):rsom‘epllbhc Accounts Commitiee

(A) President

(B) Speaker

(C) The members of the both Houses of
Parliament through the method of

Proportional representation by single
transferable vote.

(D) Prime Minister

176. What is the missing number?

1,2,10,37,101, __ 9
(A) 320 == pore
(B) 226

(C) 206

(D) 402

177. Today is Monday, after 61 days it will be
(A) Wednesday
(B) Saturday
(C) Tuesday
(D) Thursday

178. The ratio of 6 inch to 4 feet will be
(A) 1:
(B) 1:4
(©) Biz2
(D) 1:8

=

179. Exclusive Proposition: Whichis the correct
option?
Many smokers get cancer.
(A) Cancer patients are smokers.
(B) Most smokers get cancer.
(C) Smoking may lead to cancer.
(D) Smoking is injurious to health.

175. ottafers STIE 57 SfbA A Fifbe 2
(A) FTgefEs =@
(B) =Awra-a3 arl
@) AEAren SEACRA AU G5

wgrgaas T ATes efefiay «wfon
w4l |
(D) @dterrag ara

176. ‘7 BfE® 20 (FF A ZA?
1,2, 10, 37, 101, 7
(A) 320
(B) 226
€7 206
(D) 402

177. % GTE1a 307 61 7 =13 o a3 232
(A) 34
(B) *f==

(D) Iz=ifeam

178. 6 %f® @
(A) 1:6
(B) 1:4
(€) 342

(D) 1:8

179, ST {ReIRTTE R = |
AUTY A5 A Ao
(A) Wm%{aoﬁﬁ|
(B) fzrete g @t 23|
(R e Wi e afi fiics #i
(D) YEH FEA 2% W67 |
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180. '.‘Sch(m.l' is related (o ‘Student’

way as ‘Hospital’ is related 1o e
(A) Medicine
(B) Nurse
(C) Doctor
(D) Patient

———

181. Should seniority be

the only criter;
the promotion? Y criterion for

Argument: 1. No: It would be an injustice to
those juniors who are
deserving and suitable for
promotion than senior
counterpart.

2. Yes

1 Otherwise senior employees
may feel humiliated.

3. Yes: Senior employees are more

experienced and must be

rewarded for the same.

(A) Only ‘1" is strong.
(B) Only ‘1’ and ‘2’ are strong.
(C) Only ‘1" and ‘3" are strong.
(D) All arguments are strong.

182. Manoj can type 100 pages of a report in
10 hours and Bobby can do the same in 15 hours.
They worked together for 5 hours. The remaining
work was completed by Lucy in 2 hrs. If they
received Rs. 2,400 for whole work, Lucy got

(A) Rs. 300
(B) Rs. 250
(C) Rs. 200
(D) Rs. 400

183. Pointing to 2 gentleman, Somenath sai,d
“His only brother 1s the father of my daughter :
father””. How is the gentleman related to Somenath’

(A) Brother-in-Law
(B) Uncle
(C) Grandfather

(D) Father

180. ‘School' 7 ‘Studen;’ 2z s M7y
oA 7 Hospitay
(A) Medicine
(B) Nurse
(C) Doctor
AD) Patient

181. 2FrsfZ (Seniority) f
za7| Bfow
ez 1.4 ¢

At PENE g

Gin| .'T:..I a 3?-'- a(f
A R ?‘E‘n—f;ﬁﬂ

203 AT N 2
% .'51"*_'&{:
A5 gae T g 3“""@1
3 o i
2918 U 209 Ty g

Rakiicl 0T A7z |
3.9 2 AR TR e g
i_"‘z.Eqs

A, G zara ofop
(A} .lr m (,_ﬁf‘r Z‘FTTE'W'

(B) 4 ‘17 € ‘2" 7193 & 2framy
4) @9 1 € ‘3 W @ 2

(D) @Areie I e

182. SATE 10 I5TR 100 AT &6 @ vz
FATS A2 17 A4 @ TG 15 T5H F0E Al 2]
G 5 W1 BIG F9E | 41fE I T 2 TE
Frools 47 | OfF & FGHA = I 6 2,400 Bl
9171, OA & T Al ?

(A) 300 O

(B) 250 o<

(C) 200 B!

D) 400 01

B “&q
183. € CHAERE @@ mmmm §
G ©TE 2 A G @ | SHAS
Hr2 GAERITLE F) 7
(A) *Iiere

By 7
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184. A train: :
of 41. LA trainis 150 mlong. It1s running ot eupr:uj
san d_"lph_ A man is running at 11 kmph in the

aihedirection as the train, In what time willit pass
the man?

(A) 18 seconds

(B) 1:—} seconds
(C) 500 seconds
(D) A seconds

\\ii?jiglréléhlli\l is related to ‘Russia’ in the same
y as '"ECCLESIA’ is related to
(A) Bhutan
(B)
(C)
(D)

Afganistan
Greece

Germany

IBlﬁ. Exclusive Proposition: Whichis the correct
option?

If a person is rich, he has lot of influence.

{A) Alok has a lot of influence, so he 1s
rich

(B) Ifa personisnotrich he does not have
a lot of influence.

(C) Tapas is rich and so he has a lot of
influence.

(D) Poor people cannot have influence.

187. Given set (7, 77, 140) then follows
(A) (9. 88, 180)
(B) (6, 66, 120)
(C) (8, 80, 166)
(D) (4, 10, 160)

188. A building which is 64 feet high cast a
shadow of length 96 feet. The height of telephone
tower, which cast a shadow of length 180 feet,
under similar condition is

(A) 80 feet
(B) 100 feet
(C) 120 feet

(D) 90 feet

150 m!| «afb=@ sifETan

& G o
h sfferas o Gafba

184, OF
| kmp

phl 0 A |

41 km
2= 1 (GG d AECT W
R (Gt | 7k (et R s
FATA
) 18 geconds
(B) = seconds

|
1y ——— seconds
(C) 3500

i

(D) llll. seconds

185. '‘DUMA’ 1fd ‘Russia’ 23,90 ECCLESIA’

At

(A) Bhutan

(B) Afganistan

(C) Greece

(D) Germany

a3 AffE 4, O AT e Hiz|

ariE Tva @ A

(A) S S 2=

(B) @It Afee 7 4 71 28 O oI AT
ofog A Al |

(@) oA 4R @3 OIR ST HAS
T |

(D) w7w fEa 2o AP A =11

186.

e o2 (A 4el]

el

187. (7,77, 140)— &% (60 Sepiae F DA
Hoe Twaf e T4 |
(A) (9, 88, 180)
(B) (6, 66, 120)
(C) (8, 80, 166)
(D) (4, 10, 160)

188. 64 5 Tw @@l e e tnd 96 614
a2 #6180 F5 @ G Breuas e il
TG AL

(A) 80 %5

) 100 6

(€) 120 7%

(D) 90FT
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89. Mohan takes
) takes 6 hours todoajoh
st Job. Laltu takes

4 joh,
take if Mohan and Lalty, work}:':i;:luhng ﬁ:nuld -
er the g

job? ame
1
(A) 15 hrs,
3
(B) 3= :
3 hrs.

1
(©) 2; hrs.

=il
(D) 3—
) a hrs.

190. Today is Thursday, the day

will be after 59 days

(A) Sunday
(B) Thursday

MTS121
189, CH1EA A0 DG T 6 9%t
G 10 91 | 621 ST TG e v ::;
: (et

R
(A) ii 1
e
(B) 3'4 w01
AE) L D!
3 .

s
D) 3= 901
(D) 3

190. =iE 924 20 59 7 2 B 22 2724
(AT AfaE o

(B) gz=ifeam

(C) Friday
(D) Samrday

191. What is the missing number?
32,19,8, 3 ?
(A) 3 .
(B) 12
©) 5
(D) 1

192. 480 students out of 1500 are enrolled in
NCC. What percentage of students are not there in
NCC?

(A)
(B)
(@)
(D)

70%
68%
73%
64%
193. A ladder is kept against a wall. The top of
the ladder touches the wall at a height of 270 cm

from the ground. The base of the ladder is 54 cm
away from the wall on the ground. Find the length

of the ladder.
(A) +/53682 cm.

(B) 68164 cm.
(C) V75816 cm.
(D) /82547 cm-

(C) &R
(D) =&

‘7 ol A (i AL WA
32, 19, 8, 7

(A) 3

(B) 12

(©) 5

(D) 1

191.

192. 1500287 5t 480%= NCC-E T 4%
Frars | TS ool 9 TAge A [
(A) 70%
—~AB) 68%
(C) 73%
(D) 64%

193, G B (RGN WE S Sl LU
wsrsiel W (AF 270 cm THOM wenELTE =

aETE| WRHA AW (MeTE (S 54 cm T2
wafye | 53ha THel T8¢

(A) /53682 cm.
(B) /68164 cm:
,((f)' \/T—Sﬁ cm.
(D) 82547 cm-

Please Turn Ove
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194, N
- asc
Straighy 5 kcr Started from ‘X’ point and walked

Straighy 3 kms west, then turned left and walked
Straighy 7 k,::l.s and again turned left and walked
X9 S. In which direction is he from point

(A) South-Eug
(B) North-Eus
(€) North

(D) North-West

195. 4
coinci OW many times do the hands of a clock
ncide in a day?

(A) 24
(B) 20
(C) 21
(D) 22

0136. Should the number of holidays of

government employees be reduced?

Argument: 1. Yes: Our government employees
are having the maximum
number of holidays among
countries of the world.

2. Yes: It is a sign of British legacy

> which should be carried
forward.

3. Yes: It will speed up work and all
pending jobs can be
completed well in time. >
Employees must be given
ample spare time to spend
with family.

(A) Only ‘1" and ‘3" are strong.

(B) Only ‘17, ‘2’ and ‘3’ are strong3{

(C) Only 2" is stmng.jf

(D) None is strong.

4. No:

197. Given set (8, 3, 2) then follows
(A) (168, 15, 6)
(B) (95, 24,5)
(C) (63,8,3)
(D) (15,6, 5)
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gammawmmmﬂﬁm
s e JUA e 3 km @S
m@l?kmﬂﬁﬂlﬁﬂﬁ‘}{‘

194. oz X ™
5 km CAEA | ikl
(o fo (1 far® TET

o e d
B) T4
(C) &

(D) Saa-fea

195, A T4l sz $101 4f5 A7 A7 farz a7
(A) 24
(B) 20
(C) 21
(D) 22

196. W@mﬁmﬁﬁﬂvmﬁmmg
ez 19005 oA A (AT G HICTA
g6 (7T 4% |
2 312 oy fafbe oA =%
foz @l 9% @04 I1eT A
3.3 2 «@fb e 5 eI SREA
o] @rErafE FEE oR A

4.4 ¢ #AfFQNEe AN WL A
FBIEE G0 FORTEE 9B

K7 @@ 16 '3 @ 2|

(B) @ ‘1", 2 @R 3’ & A= |
(C) 4= ‘2" @ 2D |

(D) (IR 2CIe) =¥ |

197. (8,3, 2)— <2 GI6M SepTac] T DS A0S
T Fioa 3 |

(A) (168, 15, 6)
(B) (95,24,5)
(C) (63,8, 3)
(D) (15,6, 5)







